

Page 1 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) CONSOLIDA ALUMINUM FE		(2) SOUTH S	STATE, INC.		ISTRUCTION IP, INC.
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	8,323.00000	8,323.00	4,150.00000	4,150.00	10,000.00000	10,000.00
	RMANCE BOND AND NT BOND	DOLL						
0002	152015P	1.000	1.00000	1.00	100.00000	100.00	25,000.00000	25,000.00
POLLUT	ION LIABILITY INSUR	RANCE DOLL						
0003	MMB091M	250,000.000	1.00000	250,000.00	1.00000	250,000.00	1.00000	250,000.00
	ACCOUNT, LABOR, ENT AND MATERIAL	DOLL						
0004	MMR006M	10.000	1,000.00000	10,000.00	1,000.00000	10,000.00	1,000.00000	10,000.00
EMERGE	ENCY MOBILIZATION	U						
0005	MMG018M	500.000	1.00000	500.00	1.00000	500.00	1.00000	500.00
FIELD O	FFICE EQUIPMENT	DOLL						



Page 2 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FE		(2) SOUTH S	STATE, INC.		ISTRUCTION IP, INC.
Alt Set / Alt Memb	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY	Cat Alt		t Set: Cat A		It Member:	
0006 605009P	3,500.000	65.00000	227,500.00	93.00000	325,500.00	120.00000	420,000.00
CHAIN-LINK FENCE, COATED STEEL, 6' H							
0007 605027P	1,400.000	65.00000	91,000.00	95.00000	133,000.00	125.00000	175,000.00
CHAIN-LINK FENCE, STEEL, 6' HIGH	PVC-COATED LF						
0008 605060M	5.000	0.01000	0.05	600.00000	3,000.00	1,000.00000	5,000.00
GATE, CHAIN-LINK F ALUMINUM COATED WIDE							
0009 605066M	5.000	0.01000	0.05	800.00000	4,000.00	1,000.00000	5,000.00
GATE, CHAIN-LINK F ALUMINUM COATED WIDE							



Page 3 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.		(2) SOUTH STATE, INC.		(3) IEW CONSTRUCTION GROUP, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set: Cat A		Cat Alt Member:	
0010 605069M	5.000	0.01000	0.05	1,300.00000	6,500.00	1,500.00000	7,500.00
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE	., 10'						
0011 605072M	5.000	0.01000	0.05	1,800.00000	9,000.00	1,500.00000	7,500.00
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE	., 12'						
0012 605081M	5.000	0.01000	0.05	2,300.00000	11,500.00	1,700.00000	8,500.00
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE	., 16'						
0013 605099M	5.000	0.01000	0.05	600.00000	3,000.00	1,000.00000	5,000.00
GATE, CHAIN-LINK FENCE, COATED STEEL, 4' WIDE	PVC- U						



Page 4 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FE		(2) SOUTH S	STATE, INC.		NSTRUCTION JP, INC.	
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0014	605105M	5.000	0.01000	0.05	900.00000	4,500.00	1,100.00000	5,500.00
	AIN-LINK FENCE, PVC TEEL, 8' WIDE	- U						
0015	605108M	5.000	0.01000	0.05	1,400.00000	7,000.00	1,800.00000	9,000.00
,	AIN-LINK FENCE, PVC TEEL, 10' WIDE	- U						
0016	605111M	5.000	0.01000	0.05	1,900.00000	9,500.00	1,900.00000	9,500.00
	AIN-LINK FENCE, PVC TEEL, 12' WIDE	- U						
0017	605120M	5.000	0.01000	0.05	2,200.00000	11,000.00	2,500.00000	12,500.00
	AIN-LINK FENCE, PVC TEEL, 16' WIDE	- U						
0018	605174M	2,500.000	60.00000	150,000.00	80.00000	200,000.00	100.00000	250,000.00
REPAIRING	G CHAIN-LINK FENCE	LF						

Page 5 of 8



Tabulation of Bids

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.		(2) SOUTH STATE, INC.		(3) IEW CONSTRUCTION GROUP, INC.		
Alt Set / Alt I	Member Quanti	ty and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	0001 RC	DADWAY		Cat Al	t Set:	Cat A	It Member:	
0019 6052	212P	1,100.000	60.00000	66,000.00	80.00000	88,000.00	100.00000	110,000.00
RESET FENCE		LF						
0020 6052	212P	500.000	145.00000	72,500.00	125.00000	62,500.00	250.00000	125,000.00
RESET FENCE MOUNTED FEI	E (BARRIER CURB NCE)	LF						
0021 605	175M	200.000	145.00000	29,000.00	145.00000	29,000.00	250.00000	50,000.00
BARRIER CUR	B MOUNTED FENCE	LF						
0022 605	152M	2.000	0.01000	0.02	4,000.00000	8,000.00	5,500.00000	11,000.00
SLIDING GATE 12' WIDE	E, SECURITY FENCE,	U						
0023 8020	003M	50.000	10.00000	500.00	50.00000	2,500.00	120.00000	6,000.00
TRIMMING EXI 6" TO 12" DIAM	ISTING TREE, OVER METER	U						



Page 6 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) CONSOLIDA ALUMINUM FE		(2) SOUTH S	STATE, INC.		ISTRUCTION IP, INC.
Alt Set / Alt Member	Quantity and	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADW	/AY	Cat Al		It Set: Cat A		It Member:	
0024 802006M	5	000	10.00000	50.00	50.00000	250.00	120.00000	600.00
TRIMMING EXISTING TRE 12" TO 18" DIAMETER	E, OVER	U						
0025 802009M	5	000	10.00000	50.00	50.00000	250.00	120.00000	600.00
TRIMMING EXISTING TRE 18" TO 24" DIAMETER	E, OVER	U						
0026 802012M	5	000	10.00000	50.00	50.00000	250.00	120.00000	600.00
TRIMMING EXISTING TRE 24" TO 30" DIAMETER	E, OVER	U						
0027 802015M	5	000	10.00000	50.00	100.00000	500.00	120.00000	600.00
TRIMMING EXISTING TRE 30" TO 36" DIAMETER	E, OVER	U						



Page 7 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) CONSOLIDA ALUMINUM FE		(2) SOUTH S	STATE, INC.		ISTRUCTION IP, INC.
Alt Set / Alt	Member (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0028 802	2018M	5.000	10.00000	50.00	100.00000	500.00	120.00000	600.00
TRIMMING EX 36" DIAMETE	XISTING TREE, C R	OVER U						
0029 802	2021M	50.000	10.00000	500.00	250.00000	12,500.00	300.00000	15,000.00
TREE REMO\ DIAMETER	VAL, OVER 6" TO	12" U						
0030 802	2024M	5.000	10.00000	50.00	750.00000	3,750.00	300.00000	1,500.00
TREE REMOV	VAL, OVER 12" TO	O 18" U						
0031 802	2027M	5.000	200.00000	1,000.00	1,000.00000	5,000.00	300.00000	1,500.00
TREE REMO\ DIAMETER	VAL, OVER 18" TO	O 24" U						



Page 8 of 8

Contract ID: 24449 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: November 30, 2023 District(s): C4

Call Order: 449 Project(s): STATE

Contract Time: 06/30/26 COMPLETION DATE Min: Max:

Contract Description: MTN Fence Repair Contract Central 2024

Line No / Item ID Item Description			(1) CONSOLIDA ALUMINUM FEI		(2) SOUTH S	STATE, INC.	, , ,	NSTRUCTION IP, INC.	
Alt Set	Alt Member	Quantity a	nd Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	ROAL	YAWC	Cat Alt Set:		Cat Alt Member:			
0032	802030M		5.000	300.00000	1,500.00	1,250.00000	6,250.00	300.00000	1,500.00
TREE REM	MOVAL, OVER 24" R	TO 30"	U						
0033	802033M		5.000	300.00000	1,500.00	1,500.00000	7,500.00	300.00000	1,500.00
TREE REM	MOVAL, OVER 30" R	TO 36"	U						
0034	802036M		5.000	300.00000	1,500.00	2,000.00000	10,000.00	300.00000	1,500.00
TREE REM	MOVAL, OVER 36" R		U						
Section	n Totals:				\$911,624.52		\$1,229,000.00		\$1,543,000.00
	Cor	ntract Total	ls		\$911,624.52		\$1,229,000.00		\$1,543,000.00
	Cost F	Plus Time T	otals		\$911,624.52		\$1,229,000.00		1,543,000.00

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 449 Contract ID: 24449 Counties: HUNTERDON,

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: November 30, 2023 10:00 AM District(s): C4

Contract Time: 06/30/26 COMPLETION DATE

Contract Description: MTN Fence Repair Contract Central 2024 Project(s): STATE

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.	\$911,624.52	100.00%
2	SOUTH STATE, INC.	\$1,229,000.00	134.81%
3	IEW CONSTRUCTION GROUP, INC.	\$1,543,000.00	169.26%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.